DNA AND PROTEIN SYNTHESIS QUESTIONS
1. Which type of compound is found in every DNA molecule? (1.) starch (2.) nitrogenous base (3.) lipid  (4.) amino acid 

2. In a DNA molecule, a base pair could normally be composed of (1.) adenine-thymine (2.) adenine-uracil (3.) thymine-guanine (4.) adenine-guanine 

3. The deoxyribo part in the name deoxyribonucleic acid refers to the (1.) rungs of the sugar ladder (2.) bonds that hold the two strands together (3.) sugar component of DNA (4.) type of helical arrangement 

4. A nucleotide of DNA could contain (1.) adenine, ribose, and phosphate (2.) nitrogenous base, phosphate, and glucose (3.) phosphate, deoxyribose, and thymine (4.) uracil, deoxyribose and phosphate 

5. A molecular group consisting of a sugar molecule, a phosphate group, and a nitrogen base is a (1.) nucleoprotein (2.) amino acid (3.) nucleic acid (4.) nucleotide 

6. Which statement concerning nucleic acids is FALSE? (1.) DNA is a single stranded molecule.  (2.) DNA forms a twisted helix. (3.) RNA contains ribose sugar. (4.) RNA may contain uracil. 

7. A nucleotide would least likely contain the element (1.) carbon (2.) nitrogen (3.) phosphorus 
    (4.) sulfur 

8. Which nitrogenous bases is NOT found in DNA? (1.) thymine (2.) uracil (3.) adenine 
     (4.) guanine (5.) cytosine 

9. During the replication of the DNA molecule, bonds are broken between the 
    (1.) nitrogenous bases (2.) phosphate groups (3.) pentose sugars (4.) sugars and phosphates 

10. After the replication of the DNA molecule is completed, each of the two daughter cells 
      is usually composed of (1.) fragments from both strands of the parent DNA molecule 
     (2.) one  nucleotide strand exactly like the parent nucleotide strands (3.) nucleotides 
     slightly different from the parent DNA molecule (4.) nucleotides like the parent DNA 
     molecule except that thymine is substituted for uracil 

11. Which is NOT part of a nucleotide? (1.) ribose (2.) guanine (3.) maltose (4.) phosphate 

12. In nucleotides, the letters A, G, C, and T represent  (1.) phosphate groups 
      (2.)  nitrogenous bases  (3.) deoxyribose sugars  (4.) ribose sugars 

13. Select the type of nucleic acid molecule that is best described by the following 
      phrase:  may contain adenine, cytosine, guanine, and thymine. 
      (1.) DNA molecules, only  (2.) Both DNA and RNA molecules 
      (3.) RNA molecules, only   (4.) Neither DNA nor RNA molecules 

14. Select the type of nucleic acid molecule that is best described by the following 
      phrase:  are present in the nuclei of human cheek cells.   (1.) DNA molecules, only 
      (2.) Both DNA and RNA molecules  (3.) RNA molecules, only 
      (4.) Neither DNA nor RNA molecules 

15.  Which components of DNA are held together by weak hydrogen bonds? 
        (1.) phosphate and adenine  (2.) thymine and deoxyribose 
        (3.) phosphate and deoxyribose  (4.) cytosine and guanine 

Use the information provided in by the picture below on the right and your knowledge of the living environment to answer questions 16 through 18 which follow.  

	16.  In the diagram, which letter indicates a section of the molecule that includes all the components of a nucleotide?  (1.) A  (2.) B  (3.) C  (4.) D 

17.  What molecule is represented on the right? 

18.  State a reason for your answer in the preceding question.
	


19. Which event takes place first during DNA replication?  (1.) A single-stranded RNA 
      molecule  is formed. (2.) Free nucleotides are bonded together in the correct sequence 
      (3.) Transfer RNA links to an amino acid.  (4.) The DNA molecule "unzips" along 
      weak hydrogen bonds. 

20.  A DNA nucleotide is composed of 
       (1.) carbon, hydrogen, oxygen, nitrogen, and phosphorus 
       (2.) calcium, hydrogen, oxygen, phosphorus, and iron 
       (3.) carbon, hydrogen, nitrogen, sulfur, and calcium 
       (4.) oxygen, hydrogen, phosphorus, sulfur, and iron 

21.  Which base is normally used in the synthesis of RNA but not in the synthesis of DNA? 
       (1.) adenine (2.) cytosine  (3.) uracil  (4.) guanine 
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